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General Instructions :

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vit)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark. Answers to these questions
should not exeed 30 words each.

Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts —26 (A)
and 26 (B). 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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Qusg h
SECTION A

1. Tl ToRaM IR ToRA § 989 el o O 3TJ%d &MU HISg 7, T S
Afehad IYATT 3R foemra &1 foham mam 8 | 98 goneAi h fhm ooft 9 ofmar
87 1

AYAT

A 3 Sl T, grEgie S SATedisH w1 Aiftes 8, fees 3uaim e &+
X A1 o 9 § {1 ST ThaT g | Aok 39 3639 i gfd & foTg AR 918
JIIIH dehilehl T 31 2 | 37 V1G] ol fohE Teoh & GHIEHT o &9 § W@ Fohd
87 1
Favourable conditions for wind energy exist in Western Rajasthan and

Gujarat, but they have not been utilised and developed to the maximum. It
falls in which category of resources ?

OR

Water is a compound of two inflammable gases, hydrogen and oxygen,
which can be used as a rich source of energy. However, we do not have the
required technical ‘know-how’ to use them for this purpose. What kind of
resources can these gases be put in ?

2. ‘Wi SWT TRE TR a9l Y&H il 7 ? 1
AT
ARG TG § ‘STEvaeharal 1 Siedl TN fohd JehR G T8l 3 2 1
How do the Demand Deposits offer facilities ?
OR
How is Double coincidence of wants not appreciable in the contemporary
scenario ?
3. 3T I foEHTeh hl STHAT o TehIehiUl kT SIeh o1 <hal TRT AT ? 1
AT
o < wr=at S8 = 3 7R 71 fome “ederuTd! el it e IO 9 2 1

Why was Otto Von Bismarck considered as the architect of the unified
Germany ?

OR

Why were the Vietnamese provinces like Nghe An and Ha Tinh called as
“electrical fuses” ?

T 3 PT.0.



PR 1956 H ‘Togeh’ sl THAT TIUTET HIfYd i o &I TROME i T
HIT | 1

Explain the major repercussion of passing Sinhala as the only official
language in Sri Lanka in 1956.

5. HIEA SR 4 UE AT hal A1 b Hgu SveR H & g3 IAlaH AR HEHad o
g ? 1

YT

Y=g 3 A 3fag™ @ g o wEs i foRa 2 1
Why did Martin Luther say that ‘Printing is the ultimate gift of God and
the greatest one’ ?

OR

Why did Premchand reject the nostalgic obsession with ancient history ?

6. M TTYTY ITAThI0T o THTE ol Tcdeqd: el 9T HLdT g ? 1

How do common people feel the direct impact of globalisation ?

7. Ukl W Hfgd Afehan GeU Hod IUNRAIST & v fohd TohR ATveRIeh g
2?7 1

How is the maximum retail price printed on packets beneficial to the
consumers ?

Qs @
SECTION B

8.  WWA H TSHIfdeh Gl & fehglehtul o Hie FiITEl | ol TS HIT | 3
AUAT

AThATIeh SIIEAT o i T hi 3T(Yeh BT s o foIU YA THR g
1992 § 33T U Tehegl i shedi shl samean i | 1x3=3

Explain the basic idea behind decentralization of political power in India.

OR

Explain the steps taken by the Indian government in the year 1992 to
make the third-tier of democracy more powerful.
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9. wIf Raftrmnd wE W B ThgE ¥ e e ¥, weg o fafiwand
IA-AAT g o ot &l et off § | waw, f@y s det ame o
ISR T U, 39 HeH hl AT HIT | 3

Taking example of Carlos, Smith and Peter Norman, how do social
differences divide similar people from one another, but also unite very
different people ? Explain.

10. “HEU 4 Ud% ST SR AT ST i Th-gEL o IAUe e @ feam 17 3|

I I ITYH dob Tlgd YA HIfT | 3
ST

“RfiT 3 IT=TET R ITAN HS H GHEdT o o {olU Ush T3k JISIH o ®9

T foran 8 17 3@ e <kl amIieRar g hifsT | 3

“Printing brought the reading public and hearing public closer.”
Substantiate the statement with appropriate argument.

OR

“Indians used the novel as a powerful medium to bring change in the
society.” Validate the statement.

11. & %l HY o [T TETIH T AT 1 JUH HINT | 3

Describe the geographical conditions required for rubber cultivation.

12. 995l TUEU hl qyreies it i yewn § S gEneEt & @eqw & fau
TorT IR =eTE STl @ 8 2 S8 Jigd T ShifvTu | 3
AYAT
“grraita 3R UfreTiies SIeE SdTd 8 foh g9 TT=H il § &1 9Rd H 3chse
St wfcat 18 € 17 39 oA Sl JmIfa wE & fore fF wme dfv | 1x3=3

How are traditional rainwater harvesting methods being carried out to
conserve water resources in different regions ? Explain with examples.

OR

“Archaeological and historical records show that from ancient times we
have been constructing sophisticated hydraulic structures in India.”

Substantiate the statement by giving three evidences.

T 5 PT.0.
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13. U H NG 9 o JEATC e H TSI Thal ¥ Tafd faem Igramg |
fiohe ®9 9 IS 3T & | 19 % weaw i o foTw SR = 79 o ? §EEST | 3
TeraT

s BT HIEE TEd aren e forg yer oY e @ fiw o 2 T
i | 3

Ideas of national unity in early nineteenth century Europe were closely
allied to the ideology of liberalism. What did it mean for the middle class
in France ? Explain.

OR

How was the French part of Hanoi different from the native quarter ?
Explain.

14. Aehditie TR fhE YR IRefiar gifead st § 2 Tse fhifyu | 3

How do democratic governments ensure transparency ? Explain.

15. foredl & aftfeufoat < st hifse 5w o, forami o foerme @ ggmes 8 1 1x3=3
AUAT
foregl fim ufifeufaat < S Hifse a9 /o1, $eler it Fo-STa § &1 e
7| 1x3=3

Examine any three situations in which credit helps in the development of
agriculturists.

OR

Examine any three situations in which credit pushes the borrower into a
debt-trap.

16. SIS HHFAT hH FhR I 9 oWa TAT Wk W % T T AT T
23 H Icqed R FEha st 8 2 Ieen afgd Tee hifvu | 1x3=3
TUaT
Wenfiehl 9 Svefiertor ki gfshan o1 fora Tepr IARE foran 2 2 Sergwon gfed wuse
i | 1x3=3

How do large companies with huge wealth and power control production
across countries ? Explain with examples.

OR

How has technology stimulated the globalisation process ? Explain with
examples.
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17.

18.

19.

20.

21.

‘OTa T g o M Teehi hi SATET HIfT | 1x3=3

Explain the three components of Human Development Index.

“IUMIAT TSI shad SUHIRRISTT <hl Afhd W © & TMTERITel & Sehdl
2 1”7 39 HyA & gfee Hifvw | 3

“Consumer movement can be effective only with the consumers’ active
involvement.” Support the statement.

Qs T
SECTION C

“area ® = 3T AT 6T AT R TR 7 |7 SUYTE okl Afgd 9 heH H
fareeryor iR | 1x5=5

“Sugar industry in India is facing challenges.” Analyse the statement with

suitable arguments.

“To-aelia umelt =1 witenfya hIfSe | 3@ Jormelt & oy 3R FIfE S ST
I | 1+2+2=5

STt
Teh USHITdeh T o Tehrgl 9Te SRl ohl SITEAT ShITY | Ix5=5

Define the two-party system. Explain its advantages and disadvantages.

OR

Explain any five functions of a political party.

‘Fid AT o T B9 & Tohegl 9T THTEl shl TUS hifT | Ix5=5
rUaT

SHIEel Hal o Hed W WRA H gl gl IAn H e & foe Soierl fohe
qTe ShIhI shi SRS HINT | Ix5=5

T
Igdl e 7 foreaantaa gy 3199 HARSH & f S7uHTe U feRat ute adienl
! TS HIfTT | Ix5=5

T 7 PT.0.



Explain any five effects of the abolition of the Corn Laws.

OR

Explain any five factors responsible for the decline of the cotton textile

industry in India in mid-nineteenth century.

OR

Explain any five ways taken up by the Britishers for their entertainment

in the nineteenth century.

22. YRA % IUL-GS TSl § gATS ITAT hl TAMHha1 i & STt 7 2 IS qgd
Tyse HIRT | 5

Why is air travel preferred in North-Eastern States of India ? Explain with

examples.

23. YA Uil § Sifaare’ & fafim w1 6 s Hifse | 5

Examine the different forms of ‘Casteism’ in Indian politics.

24. 1930 ¥ mgred el J Al STaw G & H H v & foman 2 wase
HIf | 5

AT

WE H STESAN el Sl I ? T il | 5

Explain how Mahatma Gandhi decided to launch the Civil Disobedience
Movement in 1930.

OR

Explain how the Non-Cooperation Movement emerged in the towns.

25. orfde wfafafiel i w@ficg & emar W g &kl § afied AT | @S
&Ik <hl Tepral al-al faiarett <1 9vig hifve | 1+2+2=5

Classify economic activities into two sectors on the basis of ownership.

Describe any two features of each sector.
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26. (A
(B)
(A)
(B)

132113 |

T | 39h Tal A9 37k TH Gl T8 {Erefi W fafau

wus ¥
SECTION D

q AU a 3R b U MU ARE F TR T@EERE (758 11 W), |
JAfrd fpu U 8 | 39 Ao &l FAfafgd Mol hl "gEdr 9

(a) 9% €AW &l 1927 H T I eRH FT o7 |

(b) T8 TAM JgI @ Tiefsht 3 Gfea a1 Teied Iy fomam o |

1+1=2

3HY feu U WRA % UoHifae WE-AHts | Aefaiad 5 9 gt di7

I ITYH Toal | gWET 3 3k 1 fafen
(i) SHIER — gl 3R S HA
(i) focmEmarer -  amfe @

(iii) STEWEEIE —  Hdl TET IAN g

(iv) AeT - GiHeS TS uTh
(v) it e A SC

Ix3=3

Two features a and b are marked on the given political outline map
of India (on page 11). Identify these features with the help of the
following information. Write their correct names on the lines

marked near them :

(a) Place where Congress Session was held in 1927.

(b) Place from where Gandhiji started the Civil Disobedience
Movement.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Jamshedpur

(i1) Vijayawada

(1i1)) Ahmedabad

(iv) Noida
(v) Kochi

Iron and Steel Plant
Thermal Power Plant
Cotton Textile Centre
Software Technology Park
Sea-port

9
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Fig:  FHECTRET 397 @acl giRaTaa qhgntaer & o/ 397 61 26 & €& T/
& | =gt ui o1 & 3o e

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 1927 H HiIF = 9T (v el foham o 2
(26.2) wgTeHT et 4 ‘@foa Tas A el ¥ YE foa o 2
(26.3) 38 TS &1 AW feifigu, Sgf a9y feora 7 |
(26.4) 3I° [T &1 TH TaIRagQ, Sl fasarsT amete o= o 3 |

(26.5) Tortll wh TF w1 AW fafan, i qdl aw s AR a6 d
Hehfegd AT |
(26.6) IO U< H TEuq Hiwedat SIS UTeh 1 9 foRay |

(26.7) 3 TSY 1 AW {AIRaq, &l Hieal T Io1 €9a 7 | 1x5=5

(26.1) Where did the Congress hold its session in the year 1927 ?

(26.2) From where did Mahatma Gandhi launch the Civil Disobedience
Movement ?

(26.3) Name the State where Jamshedpur is located.

(26.4) Name the State where Vijayawada Thermal Power Plant is
located.

(26.5) Name any one State where Cotton Textile Industry was
concentrated in the early years.

(26.6) Name the Software Technology Park located in Uttar Pradesh.

(26.7) Name the State where Kandla Sea-port is located.
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I3 9. 26 & foiw For question no. 26
YA T {T-AHH (TS TR )
Outline Map of India (Political)
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